
 

 



<uuuau3uuclhn N 2

2018p' rfurprnlr 07-hL [tup{ru& N uuh-q<uqaF-l8/2-B 6ru6!ruqpnrl qtuttrutu qru;rluturuqp]r

p. bptrufu 
u|Zo<oqnumnuJr> 201gp.

uULnuL4u.rpLntrbp[r Luqqu.rlfitr frtrumtrunLLn) QPC-tr, fr 4bdu ptr!bpnLplurtr mtropbtr u. FqtrnLtrnr, nnnqnpbnLLI h uULnutrryurpLnLbpI uqqullfrtr frtruLnfLnnLLn) QPC-h !utrntr,r4pnrplurtr hId,.rrr {pu,, ,rlunLhbLn<9Lnp4>' dfr lnqdfrg, h cUdurpplulti> UQC -tr, ir 4bLIu Lntropbtr S[rqpurtr nurpfrplutrh, nnn qnp6nrrl IpLlbpnLplurtr l.lutrnbu4pnLpluitr hlrLlurtr {pr_u, urlunrhbLn n,_lu.r6urnnrlu fJnLu lnrtdhg, bpllnLup d[r*rufrtr <rrnr'Jhpr,r1bt1u{uptlbln{

pLrlnLtrblnL{ 07'03'2018p' Qtrp{u6 N uuh-q<uqaP-18i2-3 6ur6!,rqpn{ qtrdutr q*r1dr-,tr*rqpfr (urlunrhbLntr
'h',ldrirtrr',qhn) 8'5 u B'13 Llbr'nbpp, frblulbu truh hu2{ir *rntrblnr{, np uqpurtrptrbnh dr,rnu!rup,rpnLrltr
frpLulLutrurgtrblnL huLlurp trufuur'nbu{ud $frtrurLur-ulurtr dl,gngt upp urnQur btr, l4trpbgfrtr unL.;tr hurl'rdurltruqfipphbLntrlurfr duufrtr.

1.1 atuldr_uLurqpfr 
2pptrtrur!nLd

h (qsqnLd f):

1 .(urtftud ru;fu uqnh runurp I utr

qL durtr bLpu ! u ur q p urtrptrbp Jr 6*r {ur lLhpp u*r h rl*rtrb1 pu Ln h'r {b1{ur6 1 -

2'2untfu (urludurlLurqpnLd 
1tr2{ur6' qtrrlurtr al'rldutrurqpn{ trufuururbuL{urd 4pnryptrbpp, q':1d'rtr1bpp,qn1dbpfi 

frpu{nLtrpLbptr nr qupmulurtrntplnLtrtrbpp, uulpurtrBtrbpJr durLnutlupurpdurtr, hurtrdtrd,rtr-ptr4nLtrd,rtrtlunql' 9nrlLlbpfr 14u'rLnLuufuutrurm{nLplurtr hbm l{uru]qu6 [r urll hurpurpbpnLplnLtrtrbp pnqtrr{nrf btr utrr.hn{rnfu:2'3 UnLIL hurtlurduiltrurqnh qurulut{gnLplurdp 6tlqur6 {b6bpp 1nL6{nLd btr ptutruQgnLplnrtrtrbp[r dfrgngn{:(uil,rdr',1trnLp1nLtr dbnp lpbpblnL rpbr4pnLrr {b6bpp 1nL6{nuI btr 4ruuuQ'ru !urpqn{:2.4 Unqtr (urrfu6rultru,rqirpp (trbpurnlurl hru{b1Llur6p) Qurqdriur6 b bnQnr (Zi tlhg, Qtrp{nuj h hurlbpbtrn{bpLlnL opfrtrurtlhg' npntrp nrtrbtr huLlr.,uurpurqnp Ipurrluptutrurtiurtr nrd, lnLpuputrlnrp gnrld[rtr Lnpr{nLd Idb!u!uL opfrtru!:

1 . 2 $ frL u tr u u ! ur L q ur p Ln ur {n p n Lp.y n Ltrtr bp Jr
hLu{b1L{Lu6 2-ir (QgqnLLI t):

2.1 UnLltr (urdur6urltrr_uqfrptr nLdfr rlb2
n| Luldutrurqpfr utrpudutr bfir dur up:

< U Ln urtr 4ur p mtr bp fr Uqquil frtr htr u Ln fr rn n LLn u <D F C
(urugb' 11 p.bptrutr, gndfrLnuru 4914

3' trnqrlhpfr hruugbfubpp, prutrlru;trtr r[urrlbpruqru;d'rfubbpp rr urnnpruqpnrp;nrtrtrbpp

qLnn+

L1u Lnur p durti ({6u p durtr) du dutrur ! ur gn Ugn u u hdurtlbl purn

2. ll;l qurlrftuhtrbp

h LILnLnLd LrnrlLlbpfi uurnpuqpdurtr qurhfrg tr hutr4fiurutrnuf I

q.u6unnrt

<Udupppultr) UqC
(tuu_gb'<<y p. bptrutr, {urp4urtrurtrg 110

P urtr ! p' <(ur1 f !ntrnrlpurtr!" pp C,
<\< 16300_7031509

Stropbtr'
Stropbtr'



3

=la

5+
5

i
c!

co

ca

LO LO
v

c
la c\ $ O

c\

c-5
CJ

.s AI

LO
cf)

s
c\ (o c\

FV
= 

ri h

r>,f
c- --c- r Nc\ €.\r c\ f..+ c\

c\ c{ c\c\
c\.\r

O
(o
LO

c\ t-

c-v
=">. I

=E ==-J: 
-JO-

c\ c\ ro.ir

S
S

t)v c\ t\ ro
(o
ro

tr)

€c-

s3 " S
3

S

=

S
3

S
S

S
S

S
S

5
5 =

E 5
S

=J
5
3

5
3

5
3

J5
3
55

c\

5ol

:J

f
3
5

='

=

J5

a
Sc!

L
{J
c

c\
I

-c_

C\

X

I

ls
5
3

J5

=
r
5

=

cf)

F\

x

c\
I

t1

f
=
la

=)
g
3
S

f

ILlq)tu)
tc)

t^

.s
U
.9

OD-
c\

tt

-
S-
=

=
3

5
o-

'f
F

=v
I

O.J-
j

ff

-
-
5
15

-
3

L

I

=\z
c\

I

oJ

j
tt

=3

3
3

3

'-
F

=\Z
ca

I

o{

t-

ta

3
3

3
S
.15

-

Jo

c-

3

3
-
g

.ir

5

5
(o

g

3

5

(o
c-
e_

c\

3

a-

3.r
5
e_

5

j
:J

3
5
3
g
e_

v

=3
e-

3
d
3
e_
F

j
3
J
5

=
e-

=(b-
r
g

.a
3

3

J

5
j
3

3
5
3

g

-5

=(t
3

S
c\J

j
5

3
5
3
Q.c-
e_

c\

,3

5

S
C\J

=
3

3
fo
E'

3

E,o 5 ,5
==J. 

I

=-+g-' 4f R 6 !- 9-c-E E E< =a-J{J5_ 

= 
4:cfgg

E +55 3
FsII
E."o

c\

cr-)

c\

c\

c\
cY)

F\c\

c\
m

f.\

co

cf)
c\
r.r
O)

ca

c\
O
cr)
c\
|t\

cn

cn

cf)
c\
N

ca

cn

c\c!
l.-

cY)

N
ca

ca

c\c\t\

ca

ca

m

Nc\
N

.q

(o

cf)

cac\f.\

cf)

cr)

cf)c\
N

O
cf)

c\

c\
ca
NN

ca

ca

ca.\s
cf)c\N

cf)

lif

cf)
\r
cf)c\N

ca

cf)

c\
cf)
f.-

ca

,/C

= -c-

=5Y-F5J=

sn

\s
cr) ca

c\
ca

cf)
cf)

s
ca c\\r .if

\t !os $ N.<r \r

<>fs$i .ar:S,S *rYSF^E\*Iw 5

N,J
5* =Rz 

==r={-c-SV
\i
e\J

v

cl)
L
C
:f
J
JJ
=5-
+a

JJ
b
J
C



-""{$

,f
3ea

!Tc-

J5

o
J5
U)

o
J5
U)

HH
H€X.+x9oofv

O
O
O
O
00
O)

'ci
ct
al

,JJ
3
FI

c
J5

If

=5
-cr

J:t
3

al

\o
E

CL
3
c-
J^
CJ
CL

e
JJ.3,
cLi

J5 l

$J'c-'c-:
:J

JJ
3

CI

--i
c

)o

3

=3

a,

:J
E

fo
cF
ii ct)

H{

=!sJ{
=rt= L

= tr=
-q-tr=5 !J

C J
c- .L JJ5 = T€I E d-i!e -+ a-L)

p
+ 501.
J -V
= riv

-P9
EJII
3V
=-o
5
+ c.l
Lal

Ett3 a{-J trOII =.+LrcCI==

="F = 
3

+J -oJ= =_c_J:JJ5 
=5

=q F E
-vJf++ f €-s:;E E --iEi T $E:E-,: v J r-)

= F -c- cir,-jcc-
J C If r,- - =\/rrp 5--
- = c-J:6-:/ 3 P.:? s='
=,LPJ.

== 3V
€= 5 (

5i=at?i 
=<-

8lt'€=
-5

5JJC

CJ

-3

+4vc
*=

l!tt)
t--

l<!

I o.J

loJcjH <
ti
lJ a,

l- f

l+5
tel

Iv .c
l- -

l=,-Llu--
l-+ L
let

ll-

l+3
l:taltoJ
IFJ
=l c-

-F

c:-l

(o

6) c!
fC\
f-cs
{::ofs=
-C_ 5

5+
,Jg
lI:

ta-

A'S
=
+

J dat

-{=i€E
5= =.

civ d
S*r F-!J = -c-.i. c. =er-5 J!€ g)
5-<-
c- '- =.-F Y'r= J
*50

AI c{ ro

|-,\

a\ c\ l-\c\ c\

O)
c\c\ NAI

ro Nc\

s O

S: S
5

5

=

S
3

5
S

S
S

5
S

S
S

S
5

c\

E.

-c_

3
T

3
=
s
-

E

5

-c_
=
c-
3
T

-o{
-c_
=
c

=eO

-
3
g

-c-

3

3f
=

:\l-\

c\
X
c\

-
3
c_

4
'q

(b

-
e_

c\

nl
!()

35,o

3,5
3

-c-
J5
JJ

-
C\

-

cf)

-
!,lC

5

=,o
-

3

-

-c!

g

-

s'

vO
5

-,o

.j

3

3g

c_
J5

=c!

e,
c--
g

^lvO

-
=ro

.a

==3

=C\

sl-
d

g

AI

co\
cq
|-\

ca

c\
N

co

N

c\

v
t\

m
c\AI

f.\(')

c\s

ca

s
ca

cr,,l

'if
O)

ro

c\-+

N

c\-+

cq

s rn c{ co .if N o)



EJ
.E
J'

3
F
CJ

Nc\ -+
c\ cf)

3
-c-
l-

.5

=

}f
I

g

la

=*

=
-=
=

F

-
3\o.-f,.

3

+

f--.+ c\
a.l

O

N
roc\c\

c\s

=
S

*

O
|.\c\ -f

c! ca
N.+ c\ (o

c\ c\
roc\c\

c\s o

Nc\ \f
c\ LO

cf)
F\s c\

c-,1 c\ c\c\
c\s ro

=h

qj-
o-5 $ v c\ ca

Ot\s c!
c\ o)

N
T cr)

cf)

-l

5
c!

5

.5

5

=
JJ

=
J5
3

-lE-lJIal

-l

I

I

I

I

I

I

i

I

t

I

tl

c!

t-o
'o

N
I

-
I:

(\J

L
c)o
c)
a-
.!

::-o
.F
(.)

hD
(U

c\

-
ot

S-f

3

c-
o-

X(5

I

c_

3
la-
5

=
5
t\

:J

x

c\
I

ta

f
J

JJ
c_
3
3

3

-
5
-

'tr
I

=\Z

-c-
o,l

j
ta

f

I:

J
3

3
S

3

lo
| ';-
l-:

l=v
c\

o,l
5

la

5

=
c-

< |

-l
4l-s- |E-l- |

;trrT

=V
ca

on
-c-
=i.
-L:

=3
t1

3
3

=5

=

3

o
c\

I

c-

3

5

fo

g

.ir
I

J5

3

f
(o
g
e_

ro

t-

=
3
-(b
g
Q-

c\
I

3

E

3

3
(o

e

5
ta

-
5

3

3
5
5

-a_

.q
I

3

e-

f
g

=
-L:

3

3
5
f
(o
r
E

3
q-
-g
c-
5

3
ct
3

3

5

3
(o
c-
e_

I

cr
J

5(\J
c

3
=5o
g
g

l+li- 5 ,=l=rl.f
| 5.=, l- ! ,:l=i-e--, +I r i< O) =-{ F.\
| := € E5 rd
| €: 4: d gs
I E +5s 3
IF5'YT
liF 3 =| ";+ '/c

ca
-
c\ c\

cf)

c\

f.\c\

cY)

cr)
o
f.r

c\
co\-
N

cf)

cf)
c\
N

cr)

c\
cf)

c\
cn
c\
N

cf)

cr)

ca
c\
t\

(f)

cr)

c\c\
f.-

cf)

ca

c\c\N

fa

cr)

c\c\
N

cf)

cf)

ca
o,l
N

cf)

cac\
f--

cr)

c\
cf)
c\
c\
f.\

(a

cf)

cY)

s
cac\N

cf)

,tl

=5Y-Lr!J-
E.F-t-

=4

s ro
ca

ca
cY)

v
cf)

t\
ca ca -+ c\$

.+

.if lsf v

3
c-*

.' Y:eqst st+s$
:"^E !5 \u .s
VA:.N:J

-V
:E

S=5.

ci-

N
N

C
q)
:J
JJ-l

:J
l
:J

J
:J
5
c_

=V]
-'



3acn
!rc-
3.,c

J5

o
a

O
r

"3 ct
5 \J-
,f CL

='+ +8 Pq 
== Lo ;<

E:j=r'Es
5 is€F 5:;
5 $BsE V

= aV v v
= v--(vg

'-rt E
9cr
3v

"=
5
c-
o

}f
U)

\Oi,
E
c-

;tu-

-i|(',

rl'

€|.i
I

J5 l3t
-l:

JJ
-c- (

QJ rg-

-{
'-y

3
CL

CJ
CI
e
e\qO)
=.t

{
- \
Ja

Ha\

e€ic- =<c ir'r rf J
= ;+c-
Cl- i l'!

-c- circ-4]vtv
c--L:
lo)-

J533V
5
=

l
f5--

=e
F

=
3,o

=
3

€
J5

I

3
,\c

3
vo

=
q
3

S

c-

-Lf

j+9
tr=

-c_
5-=

\o=
3 -c-

!,,1C Ot

slc-Pl-
!:J

-|f,_lJ

5-|:'

FA

==fi.L

":E3=
=FL=

,=9J-l 
-

c! N
6 ro

c\

LN

Nc\
o

Nc\

.f

ca.+

N
LO ca

AI lt.\
CN

N
CN

O-if

cas

AI N c\c\ l.\c\ \c\

s
cr)\-

\l N
La)

LO
v

O) N
D

O
Nc\

o,
f-.

cf)
c{

I

q

5
C\

-5
j

JJ

5

-

-t-
F
-c_c_
5
T

AI
I

=

3
=
=-

-c-
g
c_
ta

I

c\

n

=

AJ-
=

-
vo

-

-

c_

=
3
f
3

F\

^ic\x
c\

3

+s
d
--
c_

c\
I

-5
-al

r/O

55ro

c-
3
3-

5

-
c!
(o

=g

cf)
I

=
rro
5-5

ro

c-
5

3-
-.c-

-l:'

-
c!

g

F

s

=
v()

,o
a

3

=s
c-

c!

tv_
d

Q-

I

,^3

3
)o

3

=
c_

E

c!

ab
g

=g

\r
cn
\r
AI
F\

^l|-\

c{

N
N
l-\

ca

N

AI

N

c\

-+
ca
l.\

c\

c\c\
N

cf,

c\\r
o)

cf)

$
ca

c\s

ro

\
c\.if

cr)

N

c\\-

-l

la

=3

I-\*+ v .f Lr)
\r N


